Best model for HELP_J022049.378-045947.225 atz = 1.702 )(2=3.4
OPTx?=2.88 IRx?=5.12 threshold (OPT IR)=21.61 [um]

102 3 : Stellar attenuated
q - - Stellar unattenuated
1 —— Dust emission
101 E [p —— AGN emission
E = Model spectrum
0 1 ® Model fluxes
10 E [ Observed fluxes
21071 5
£ E
X 10-2 ]
5 1077 5
(T ]
10—3 4
1074 4
305 E
= 1 3
= ] ==f=(Obs-Mod)/Obs
S ]
ko) ]
G |
] o e N (K . oY e = R O N R R N L T T T
o ]
) ]
2 ]
5 ]
o -1 —  ciGae
()
(o'

10° 10t 107 103 104 10° A
Observed wavelength [um]



